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] I T I = I 3 - o - - . - . - The perimeter of a polygon is the sum of the lengths of the sides of the polygon. For

problems 7-10, find the perimeter of each shape. All lengths are given in centimeters.

2. (e +3)=(*+9)

3. (+10)2¢+x-6) 7. 2x -8

L (304 1) - 8r+ 5)

. (7= 2)+ (X + 2v-12)
@+ 4 2)( +x-3)

L (@ )3 -x+4)

L (2= (3642

. (6= 6)- (" -x)

L (8¢ = 3)+ (- 4)

8x +22

2x2 -5
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. — Practice 1.2.1: Adding and Subtracting Polynomials
L] S R S

Find each sum or difference.

7 (53 [

Find each product,

L (+18)+(=x+4)

38

2. (F-9)0+3)
5 (e 100 ex-0) 2 (T+3)-(2+9)
4. (Br+DEr-8r+5)
] 5 (@442 +x-3)
i 6 @ean@r-re 3 (@-2)+ 4+ 2-12)

‘The area o a rectangle i found using the formula are
the rectangle and i the width. Find the area of each rectangle with the g
and widths.

g 7. == 15w=x-4
4. (F+x) - (36 +x)
8. l=-Pedw=rex

9. l=stsZw=r+l

10, =8 Tiw=3-3

5. (6x*-6)— (' -x)

6. (8¢ +x*-3)+(*-4)

[
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Practice 1.2.2: Multiplying Polynomials
Find each product.

1 (+3)x+8)

2. (=9)(*+3)

3. (x+10)2¢ +x—6)

4. (3x+ D —8x+5)
5 (C++ 2@ +x-3)
6. (4 +0)(E3e-x+4)

The area of a rectangle is found using the formula area = hw, where /s the length of
the rectangle and w is the width. Find the area of each rectangle with the given lengths
and widths.

7. I=2-15w=x-4
8. I=—x 42 w=attx
9. I=Sr+Zw=r+1

10. /=8x-7;w=3x-3

Comme
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